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I see 5 Christmas trees.

2 have stars on the top.

The rest do not have stars.

How many trees do not  
have a star?

answer: ____________________

Name: 

Christmas Word Problem

A-1

Show your work.



There are 6 gifts under a tree.

I put 2 more gifts under the tree.

How many gifts are there now?

answer: ____________________

Name: 
A-2

Show your work.

Super Teacher Worksheets - www.superteacherworksheets.com

Christmas Word Problem



Carol has 9 candy canes.

Holly has 4 candy canes.

How many more candy canes 
does Carol have than Holly?

answer: ____________________

Name: 
A-3

Show your work.
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Christmas Word Problem



There are 7 stockings.

3 have a gift in them. 

The rest do not.

How many stockings do not have 
a gift in them?

answer: ____________________

Name: 
A-4

Show your work.
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Christmas Word Problem



Kris has 4 gingerbread cookies. 

Nick has 10 cookies.

Noel has 2 cookies.

How many cookies do they have 
altogether?

answer: ____________________

Name: 
A-5

Show your work.
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Christmas Word Problem



There are 12 reindeer in the park.

2 more join the group.

Then 3 run away.

How many reindeer are there 
now?

answer: ____________________

Name: 
A-6

Show your work.
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Christmas Word Problem



Mr. Frost sends 10 Christmas cards.

5 cards are to his family.

The other cards are for his friends.

How many cards did he send to 
his friends?

answer: ____________________

Name: 
A-7

Show your work.
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Christmas Word Problem



Joy and Belle make paintings to 
give as Christmas gifts.

Joy painted 2 pictures. 

Belle painted 7 pictures.

How many more pictures  
did Belle paint than Joy?

answer: ____________________

Name: 
A-8

Show your work.
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Christmas Word Problem



Gabe and Angel sang Christmas 
songs.

Gabe sang 7 songs. Angel sang  
5 more songs than Gabe.

How many songs did Angel sing?

answer: ____________________

Name: 
A-9

Show your work.

Super Teacher Worksheets - www.superteacherworksheets.com

Christmas Word Problem



Miss Grace has 7 Christmas hats.

1 is green. 1 is blue. The rest are red.

How many red hats does she 
have?

answer: ____________________

Name: 
A-10

Show your work.
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Christmas Word Problem



A horse pulls a sleigh. 

It has 18 bows in its mane.

9 bows fall out.

How many bows are in its mane 
now?

answer: ____________________

Name: 
A-11

Show your work.
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Christmas Word Problem



Eve has 14 toy Santas on a shelf.

Her mom gives her 3 more.

Then she gives 4 to her brother.

How many toy Santas does she 
have now?

answer: ____________________

Name: 
A-12

Show your work.
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Christmas Word Problem
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5 -- 2 = 3

6 + 2 = 8

9 -- 4 = 5

7 -- 3 = 4

4 + 10 + 2 = 16

12 + 2 = 14

1 + 1 = 2

14 + 3 = 17

14 -- 3 = 11

7 -- 2 = 5

17 -- 4 = 13

10 -- 5 = 5

7 -- 2 = 5

7 + 5 = 12

18 -- 9 = 9

A-1 I see 5 Christmas trees. 2 have stars on the top.
The rest do not have stars. How many trees do not have a star?

A-2 There are 6 gifts under a tree. I put 2 more gifts under the tree.
How many gifts are there now?

A-3 Carol has 9 candy canes. Holly has 4 candy canes.
How many more candy canes does Carol have than Holly?

A-5 Kris has 4 gingerbread cookies. Nick has 10 cookies.
Noel has 2 cookies. How many cookies do they have altogether?

A-7 Mr. Frost sends 10 Christmas cards. 5 cards are to his family.
The other cards are for his friends. How many cards did he send to his friends?

Miss Grace has 7 Christmas hats. 1 is green. 1 is blue. The rest are red.
How many red hats does she have?

A-9

A-10

A-11

A-12

Gabe and Angel sang Christmas songs. Gabe sang 7 songs. 
Angel sang 5 more songs than Gabe. How many songs did Angel sing?

Eve has 14 toy Santas on a shelf. Her mom gives her 3 more.
Then she gives 4 to her brother. How many toy Santas does she have now?

A-4 There are 7 stockings. 3 have a gift in them. 
The rest do not. How many stockings do not have a gift in them?

A-6 There are 12 reindeer in the park. 2 more join the group.
Then 3 run away. How many reindeer are there now?

A-8 Joy and Belle make paintings to give as Christmas gifts.
Joy painted 2 pictures. Belle painted 7 pictures.
How many more pictures did Belle paint than Joy?

A horse pulls a sleigh. It has 18 bows in its mane.
9 bows fall out. How many bows are in its mane now?

answer: 3 trees

answer: 8 gifts

answer: 5 candy canes

answer: 4 stockings

answer: 16 cookies

answer: 11 reindeer

answer: 5 red hats

answer: 13 toy Santas

answer: 5 cards

answer: 5 paintings

answer: 12 songs

answer: 9 bows

ANSWERSChristmas Word Problem


